Question 1.

Work out the following divisions:
(i) (35x + 28) = (5x + 4)

(i) 7p%q?(9r — 27) = 63pq(r — 3)
Solution:

(i) (35x + 28) = (5x + 4)

7(5x+4)
= (bz+4) 7

(i) 7p2q?(9r — 27) = 63pq(r — 3)

Tp%q> x9(r—3)
= 63pq(r—3)

=p” g x9=9pq

Question 2.

Divide as directed:

(i) 6(2x + 7) (5x — 3) = 3(5x — 3)

(i 33pq (p+3) (29 -5) = 11p (29 - 9)
Solution:

([} B(2X 7) [BX— B) = B(E— B)
6(2z+7)(5x—3)
=" 3(62-3) =2(2x+7)

(i) 33pq (p+3) (20 - 5) = 11p (29 - 9)
33pq(p+3)(29—5)
= 11p(2¢-5) =3q(p+3)

Question 3.

Factorise the expression and divide them as directed:
(i) (7x2 — 63x) = 7(x — 3)

(i) 3p?+17p +10) = (p + 5)

(i) 10xy(14y2 + 43y — 21) = 5x(7y — 3)

(iv) 12par(6p? — 13pq + 6g2) + 6pq(2p - 3q)



Solution:

(i) (7x% — 63x) + 7(x — 3)
Tx(x*-9)  7x[(x)* -(3)’]

T 1x=3)  7(x-3)

Tx(x+3)(x~=3)
=T -3 O Xxtd)

(i) 3p?+ 17p+10) = (p + 5)

3p2+2p+|5p+10
N p+5
»3%10=30]
<.'.30=2x15r
L l7=2+lS‘
pBp+2)+5QCp+2)
B p+5
_Gp2@+s)
(p+5) P

(iif) 10xy(14y2 + 43y — 21) + 5x(7y — 3)
 100{14y” + 49y - 6y - 21]
- 5x(7y-3)

.+ —21x14=-294
5 =294 =49 x(-6)
| 43=49-6

A
-

10 7y(2y+7)=3(2y + 7)]
5x(7y-3)




10xy(2y + 7)(7y-3)
- 5x(7y-3) =22y +7)

(iv) 12par(6p* = 13pq + 60°) = 6pq(2p - 30q)

_ 12pgr(6p® -9pg -4pg +64)
6pq(2p-3q)

. 6x6=36
5 36=-9x(-4)p
| =13m=H=4

- 12pgr3p(2p -3q) - 29(2p - 39))
- 6pq(2p -3q)

A

12pgr(2p-39)3p-2q) .
=T 6p2p-3q) VP~



